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Question Number : 1 Question Id : 91394326597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

According to Bloom's traditional taxonomy, the highest level of learning in cognitive domain
IS :

Options:

Application
913943104401,



Evaluation
913942104402,

Analysis
913943104403, :

Comprehension
913942104404,

Question Number : 1 Question Id : 91394326597 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

913345104401, i

&

9129432104402, 13
IEEELL

9123345104403,

912345104404,

Question Number : 2 Question Id : 91394326598 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Assignment method of teaching is a combination of which of the following ?

Options:

Heuristic method and pmb[em SL}[Ving method
913943104405

Lecture-cum-demonstration method and laboratory method
913943104406, :

Project method and lecture method
913943104407,

Lecture method and field visit method
913943104408,

Question Number : 2 Question Id : 91394326598 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:




EYfas 9ty R g9e-a9eE fafy

913345104405,

FAA-He- ey fafy it wanmemen fafy

9133421044086,

garquy fafer 3fv =aram fafy

913845104407,

= fafy 3w &3 < fafy

213942104408,

Question Number : 3 Question Id : 91394326599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Heuristic method of teaching was developed by :

Options:

John Dewey
913943104409, :

Friedrich Froebel
913943104410,

H.E. Armstmng
913943104411,

Anne Sullivan
913943104412,

Question Number : 3 Question Id : 91394326599 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 4 Question Id : 91394326600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



There are some best practices of using teaching aids in classroom. Below are given certain
teaching media aids, please match them according to the size of the class in terms of number
of students and the teaching aid to be used :

Set -1 Set - 11

a) Small size class of 2-3 students i)  Flip-chart or white board
)

c) Large size class of 20-25 students

Medium size class of 10-15 students  (ii) PowerPoint slides
(iif) Oval presentation with display screen

d) Extra large size class of more than iv)  Writing on paper
30 students

Code :

(@) (b) (o) (d)

:Z:;mm (i) (i) (iv) (D)
oimoumionars W @) (i) (iid)
simoamionars B (@) (i) (i)
simsamioanie V) (@) (D) (i)

Question Number : 4 Question Id : 91394326600 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(@) (b) (o) (d)
Options:

2913942104412 (H) (Hl) [:IV) (1)

@ (v) (@) (i)

913343104414,



2913942104415, (1) (1\3) (111) (11)

913343104416, (1"\.") (

Question Number : 5 Question Id : 91394326601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

There are teaching aids which are centered around certain skills such as reading, listening
and pronunciation etc. Such teaching aids are called as :

Options:

Skill based teaching aids
913943104417,

Audio-lingual teaching aids
913943104418,

General knowledge teaching aids
913943104419,

Scientific teaching aids
913943104420,

Question Number : 5 Question Id : 91394326601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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913845104420,

Question Number : 6 Question Id : 91394326602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The originality of a research topic will depend upon factors of :
(a) Uniqueness of the topic

(b) Utilitarian dimensions

(c)  Support system

(d) Non-requirement of supervision

(e)  Feasibility of the study

Code :

Options:

(a), (b), (c) and (e)

913342104421,

(b), (¢), (d) and (e)

91334510442Z.

(a), (b), (c) and (d)

9123345104423,

(a), (b), (d) and (e)

912345104424,

Question Number : 6 Question Id : 91394326602 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tt oy faog =1 Aifctehdr T Seehi T R &0 ?
(a) Towg =t fafersedn
(b) SUHMAEERE] HA—MH

(c) HEAN HoTe!

(d) TISEIOT S SFAATIRAT
(e) AHIA hHi HAEHd]

(a), (b), (c) 3R (e)

2913942104421,

(b), (), (d) 3R (e)

2123942104422

(@), (b), (c) 3R (d)

912345104423,



(@), (b), (d) 3R (e)

2913942104424

Question Number : 7 Question Id : 91394326603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which among the following provides the strongest evidence of cause-and-effect relationship
between independent and dependent variables ?

Options:

Correlational appmach
913943104425,

Non-experimental approach
913943104426,

Experimental approach
913943104427,

Descriptive statistics
913943104428,

Question Number : 7 Question Id : 91394326603 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
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913342104425,
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Question Number : 8 Question Id : 91394326604 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
With what name an attribute like height, weight or happiness that is measurable and that is

assigned with changing values be called ?
Options:

Heuristic
913943104429,



Statistics
913942104430,

Variable
9139432104431,

Sample
913943104432,

Question Number : 8 Question Id : 91394326604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
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913345104429,

912345104420,

=0

912345104421,
913345104432,

Question Number : 9 Question Id : 91394326605 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following is incorrectly matched between the proponent and the theory of

education advocated by him ?
Options:

Plato - Naturalism
9139432104433,

Rossean - Naturalism
913943104434,

Plato - Idealism
913943104435

Dewey - Pragmatism
9139431044386, -

Question Number : 9 Question Id : 91394326605 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Question Number : 10 Question Id : 91394326606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A research report will contain :

(

k]

) Financial accounts

=

(b)  Prefatory parts

(c) Utilisation certificates
(d) Title page

(e) Table of contents

(f)  Terminal chapters
Code :

Options:

513043104437, (@) (B), (¢) and (e)

(b), (d), (e) and (f)

913943104438,
913943104439, (), (d), (e) and (f)

(a), (c), (d) and (e)

29123394=2104440

Question Number : 10 Question Id : 91394326606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



@), (b), (c) 3R (e)

2913942104437

(b), (d), (e) &R (f)

913343104425,

(©), (d), (e) AR (£)

2133942104439

@), (), (d) 3R (e)

9123345104440,

Sub-Section Number: 2
Sub-Section 1d: 9139431426
Question Shuffling Allowed : Yes

Question Id : 91394326607 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label - Comprehension



Read the following passage carefully and answer questions from 11 to 15 :

We live in a world characterised by greater universal aspirations to full participation in the
life of societies. What is more, in every society there is a constantly growing need to take full
advantage of its reserves of intelligence, talent and energy. Here the need to improve the
quality of education is emphasised. Clearly, any assessment of quality involves a value
judgement that is coloured by what one expects of education. A good-quality education
should meet three essential criteria : it should be democratic, it should be socially effective
and it should be motivated by a humanism that does not allow it to be subordinated exclusively
to the criterion of productivity. This calls for a critical appraisal of the highly debatable
tendency to give priority to allegedly “practical” knowledge as opposed to mind-broadening
subjects, topics for thought, artistic expression or the philosophical approach. The link between
education and work formed another theme which was frequently brought up. There is a
grave concern regarding the wide discrepancies between education and employment.
UNESCO, for a long time now, has made a point of studying the interactions between
education, work and employment as part of its action in the field of planning. It has to be
said that it is very difficult to plan education strictly in accordance with employment forecasts,
in view of the growing diversity of modern economies and the extremely rapid changes to
which they are subject. It has been shown that greater flexibility in the structures and
functioning of education provides the best guarantee against the danger that it will be
ill-adapted to rapid change.

Sub questions

Question Number : 11 Question Id : 91394326608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Why is there a need in every society to take advantage of intelligence, talent and energy ?

Options:

To preserve the reserves of these factors cited
913943104441,

To participate in the life of societies
913943104442,

To characterise the world with universal aspirations
913943104443,

To assess the educational needs
913943104444,

Question Number : 12 Question Id : 91394326609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is coloured by the expectation of education ?

Options:

Value judgement
913943104445,



Assessment of EXPEEtEd oultcome
2913242104446,

Identification of motivation
913943104447

A critical appraisal of debatable tendencies
913943104448,

Question Number : 13 Question Id : 91394326610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The characteristic of humanism should be :

Options:

Priority to practical knowledge
913943104449, '

Jpposition to philosophical approac
15043104450, OPPOsItiON to philosophical approach

Non-sub-ordination to productivity notion
913943104451, :

Planning education for employment
913943104452, :

Question Number : 14 Question Id : 91394326611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is the action of UNESCO in the field of planning ?

Options:

l"m:l.lf-_‘.sing on artistic expressimn
913943104453,

Expressing grave concern on discrepancies between education and life
913943104454,

Not to plan education for work
913943104455,

To study the linkage between education and work
913943104456, :

Question Number : 15 Question Id : 91394326612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



T'he passage emphasises the factors of :
a) Need for quality education

b) Link between education and work

~

(c) Balance between mind-broadening subjects with practical knowledge
(d) Not planning education for meeting the needs of modern economies

e) Flexibility in the structures of education

(f) Subjecting education to rapid changes
Code :

Options:

913943104457, (), (d), (e), (F)

413943104458, (b), (d), (e), (F)

(), (¢), (d), ()

9123451044549

(a), (b), (), (e)

912345104460,

Question Id : 91394326607 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label - Comprehension
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Sub questions
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Correct Marks: 2 WrongMarks: 0
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Correct Marks: 2 Wrong Marks: 0
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Question Number : 13 Question Id : 91394326610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
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Correct Marks: 2 WrongMarks: 0
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Options:
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913943104457 (ﬂ)’ (d)’ (e), (f)

913942104458, (b)’ (L[)’ (e), (f)

(@), (), (d), (D)

9138451044539
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Sub-Section Number: 3
Sub-Section 1d: 9139431427
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 91394326613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Feedback makes the classroom communication process :

(a) Linear

(b) Circular

(c) Complete

(d) Interactive
(e) Disorganised
Code :

Options:

(b), (c) and (d)

912345104461,

(c), (d) and (e)

9123451044E2.

(d), (e) and (a)

9123451044E3.

(e), (a) and (b)

913345104454,

Question Number : 16 Question Id : 91394326613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

(b), (c) 3R (d)

2913942104481,



(©), (d) 3T ()

2913942104482

(d), (e) 3R (a)

913343104463,

(e), (a) 3R (b)

913342104454,

Question Number : 17 Question Id : 91394326614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
[conic production of classroom communication includes :

Options:

Telephone
913943104465,

E-mail
913943104466,

Graphics
913943104467,

Scripting
913942104468,

Question Number : 17 Question Id : 91394326614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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9123451044E5.
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912345104466,

912345104467,

fenfen

9133451044E5.

Question Number : 18 Question Id : 91394326615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0



The primary bases of inter-personal power in relation to classroom communication are :
(a) Coercive power

(b) Reward power

(c) Referent power

(d) Legitimate power
(e) Recreational power

Code :
Options:

(a) and (e)

913943104469,
013943104470, (@) (€) and (e)

b), (d) and (e)

912345104471, (

(a), (b), (c) and (d)

913345104472,

Question Number : 18 Question Id : 91394326615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 19 Question Id : 91394326616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Assertion (A) : Making good predictions in classroom communication may become

difficult.

Reason (R) : It happens when interactions with students takes place at superficial level.
Code :
Options:

Both (A) and (R) are true.
913943104473,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).

913943104474,

(A) is true, but (R) is false.
913943104475,

(A) is false, but (R) is true.
913943104476,

Question Number : 19 Question Id : 91394326616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(A) 3R (R) S &t € |

913343104473,
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913345104474,

(A) T&I ¥, T (R) Tod & |

913845104475,

(A) T4 €, T (R) Tel B

913345104476,

Question Number : 20 Question Id : 91394326617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: O
It is estimated that the meaning derived by the students from non-verbal communication in

relation to verbal communication is _ more.
Options:

1/3
913942104477,



2
S
£33

913943104478
913943104479
913943104480,

Question Number : 20 Question Id : 91394326617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
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Options:

915942104477,
2/3
913942104475,

2123242104479

i
Q913942104480

Question Number : 21 Question Id : 91394326618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If FIST is coded as JMWX, then the code for BOAT will be :

Options:
ESEX
913942104451,

BCFX
913943104482

CDEX
913943104483

FSEX
913943104484

Question Number : 21 Question Id : 91394326618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
IS FIST =1 IMWX % &9 § FZag a1 STl €, df BOAT &1 %2 2

Options:



ESFX
913943104481,

913343104452, BCEX

CDEX
913943104483

FSEX
913943104484

Question Number : 22 Question Id : 91394326619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The next term in the number series 41, 27, 16, 8, 35

Options:
4
2912942104455,

r_..J

212942104456,

-2

913343104457,
9133431044585,

Question Number : 22 Question Id : 91394326619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

9 @l Il T Hifod ;
41, 27, 16, 8,

Options:

4

2913942104485,

r__,'.J

913343104456,

2

913342104457,

9123451044585,

Question Number : 23 Question Id : 91394326620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 Wrong Marks: 0
The next term in the letter series IN, HL, GJ, FH, EF, 15 3

Options:

DD
913943104489

BD
913943104490,

BC
913943104491,

DE
913943104492,

Question Number : 23 Question Id : 91394326620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
9 AT shl U i ;
IN, HL, G]J, FH, FEF,

Options:

DD
913943104489,

BD
913943104490,

BC
913943104491,

DE
913943104492,

Question Number : 24 Question Id : 91394326621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following is known as fourth estate ?

Options:

Media
913943104493

Judiciary
913943104494 ;

Office of the President of India
913943104495.



Parliament
913943104496,

Question Number : 24 Question Id : 91394326621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frafafad ¥ 9 fd =iy T %@ §a1 € 2

Options:

qifean

9133451044353,

=TT Ak
Q12942104494

913943104495, L o Ul & HEed

912345104436,

Question Number : 25 Question Id : 91394326622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Pointing to the photograph of a girl, Sukanya said, “ She is the daughter of the only daughter
of my mother”.
How is Sukanva related to the girl in the photograph ?
Options:
Sister
912943104497

Aunt
913943104498,

Mother
9139432104499,

Information incomplete
913942104500,

Question Number : 25 Question Id : 91394326622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tt &= & W 1 3R 2T B gF=n 3 Fel, Cde W A Bl gFardl ol i sel g1
=1 3R W H T TE F1 F S 1 He g2

Options:

913345104457,



2913942104438,

9133431044949

913342104500, Z E %

Question Number : 26 Question Id : 91394326623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Given below are two premises (a and b). Four conclusions are drawn from them. Select the

code that states validly drawn conclusion(s) [ taking the premises individually or jointly].

Premises : (a) All mammals are warm-blooded animals.
(b) No lizards are warm-blooded animals.
Conclusions : (i)  No lizards are mammals.
(i) Some lizards are not mammals.
(i) No warm-blooded animals are lizards.
(iv) All warm-blooded animals are mammals.
Code :
Options:
(1) and (i1)
9133942104501,
(i1) and (iii)
9133942104502,
(1) and (iii)
913342104502,
(iii) and (iv)
9133942104504,

Question Number : 26 Question Id : 91394326623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



1= T HR-T (2 3R b) feu U 21 378 =R frepd frerer 0 €1 39 $2 1 =94 Fifee fSd
fafueq frerd S1fYeiad /2 [ STeRERE 1 UFha a1 949 &9 9 ofd g2 |

TN : (a) T TR SOREE T € |

(b) i oft fouscll TR ST T4 ¥
Frreeret - () HE o e A E
(i) Fo foTwel TAEE T 2
(i) e o SOREE S fEuswa T2 T
(iv) O IO S U 2 |
< :
Options:
912942104501, (l) EﬁR (Ll)
912942104502, (11) a:ﬁT (I_Ll)
Q15942104503 ([) afﬁ_{ (I_ll'.)
Q15942104504 (I.Ll) S?R (IV)

Question Number : 27 Question Id : 91394326624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Among the following, there are two statements which can’t be true together, but can be false

together. Select the code that represents them :
Statements : (a) All bats are mammals.
(b) Some bats are mammals.
(c) Some bats are not mammals.
(d) No bats are mammals.

Code :
Options:

(a) and (b)

913345104505,

(a) and (d)

912345104506,

(a) and (c)

912345104507,

(b) and ()

9133451045085,



Question Number : 27 Question Id : 91394326624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TAfafEa | 31 %99 fTu T € S U 919 96 TR 8 99 §, foheg 9 U 91 TTerd o Wehd & | 3%
TrEid sheare Fe g

HA [off THES AU 2
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¢) TS IHNCE WAL 7L 2 |
d) E IEMEE THYM TE 2 |
<

Options:

(@) 3 (b)

913342104505,

(a) 3T (d)

912345104506,

(a) 3R ()

913345104507,

(b) 3R (¢)

912345104505,

Question Number : 28 Question Id : 91394326625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following statements are correct with regard to the “truth and validity” in logical
reasoning. Select the correct code from the below :

(@) Truth and falsity are attributes of individual propositions.
(b)  Validity and invalidity are attributes of individual propositions.
(c)  Truth and falsity are attributes of arguments.

(d) Validity and invalidity are attributes of arguments.
Code :
Options:

(a) and (b)

913345104509,

(b) and (d)

913845104510,

(a) and (¢)

212942104511,

(a) and (d)

913343104512,



Question Number : 28 Question Id : 91394326625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ifeheh qeheTert Tieto] & Hed ¥ ‘g IR fafuar=rar’ & aR § =F 9 %97 Tel € 2
SR TACIE I

(a) T IR Mooy =AfvH gron Hi ¥ 2|
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fafemr=rar iR sAfafugr=rar 9 =i faeman 21

Options:

(a) 3R (b)

913345104509,

(b) 3T (d)

(a) 3R (c)
(a) AR (d)

912345104511,
912345104512,

Question Number : 29 Question Id : 91394326626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Among the following which one of the arguments is rooted in empirical investigation ?
Options:

Hypothetical
913943104513, °

Deductive
913943104514,

Inductive
9139432104515.

Implicative
913943104516,

Question Number : 29 Question Id : 91394326626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
frfafad o 9 & 91 9 JaS-qcs ST990 & g H 8 2
Options:




2913942104513, sosiia i

[

HAIHen

913345104514,

L
913342104515, SARTIE,

ffeare®

913345104516

Question Number : 30 Question Id : 91394326627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Identify the correct reasoning in the following argument :

“ An English woman lecturing Americans on semicolons is a little like an American lecturing
the French on sauces”.
Options:

Analogical

2913942104517

Deductive
913942104518,

Inductive
913942104519,

Hypothetical
913943104520,

Question Number : 30 Question Id : 91394326627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frfatiad 9 | 9 el 91 &1 99 HiTau ;

‘T AU Ofee R ST 1 37% foH F AR H 9T o1 T & § 99 % ST g/
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Options:

2913942104517 ;

913343104515,

9133421045149 j 3

IRl TcHh
912942104520,




Sub-Section Number: 4
Sub-Section 1d: 9139431428
Question Shuffling Allowed : Yes

Question Id : 91394326628 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 33)
Cuesticon Label | Comprehension

The number of candidates Appeared (A), Passed (P) and Selected (5) in a
competitive examination in two states
Year : _
State X State Y

A P S A P S
2010 990 195 48 1120 240 60
2011 650 150 44 960 180 52
212 840 180 50 885 17% 64
2013 780 160 64 1040 220 60
2014 1020 220 7 980 280 68
2015 930 21D 70 900 228 48

Based on the above table, answer the following three questions.

Sub questions

Question Number : 31 Question Id : 91394326629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In the year 2012, the % of candidates who failed in State X was nearly :

Options:

50 %
913943104521,

90%
913943104522,

95 %
9133942104522,

50 %
913943104524,



Question Number : 32 Question Id : 91394326630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In the year 2015, the % of candidates who passed in State X and Y taken together was
nearly :

Options:

913943104525 10%

25%
913943104526,

50 %
913943104527

66 %
913943104528,

Question Number : 33 Question Id : 91394326631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In State X, the overall pass

I.'!!_.r'

‘o during the period 2010 - 2015 was nearly :

Options:
5%

o

913845104529,

40%

2123942104530

913345104521,

913345104532,

Question Id : 91394326628 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 33)
Juestion Label - Comprehension



el e ATl S HEA (A), 3wl (P) @R =@ (S) < a0
g qiter |
Gk . f
T X T )
A P S A P S
2010| 990 195 48 1120 240 60
2011 650 150 44 960 180 52
2012 840 180 50 885 177 64
2013| 780 160 64 1040 220 60
2014 1020 220 4 980 280 68
2015 930 215 70 900 228 48
IYYa dlfeTehl o AR W 37 o o9 Y9I o W < |
Sub questions

Question Number : 31 Question Id : 91394326629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Y 2012 H, X T H 30 8 a1l BT bl Y& F1 a1 Fraradl @
Options:

80 %
913943104521

90 %
913943104522,

2123942104523,
2913942104524,

Question Number : 32 Question Id : 91394326630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
9 2015 H, X 3R Y T5F H FA THAR 301 B arel AT T T YT ¢
Options:

10%
913943104525,

25%
913342104526,



50 %
913943104527

66 %
913943104528

Question Number : 33 Question Id : 91394326631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Y 2010 - 2015 F SRE TF X H TN 1 Fol ATHT Jfaerad ¢

Options:
=y IZE!'.-r
913943104529,
40%
Q9129423104520
20%
Q912942104521
50 %
912942104522
Sub-Section Number: 5
Sub-Section | d: 9139431429
Question Shuffling Allowed : Yes

Question Id : 91394326632 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (34 to 35)
Cuesticon Label | Comprehiension



Look at the following diagram :

Number of
students in
a class

A,

Student

from State
Y

Suppose you are given the following :

(@) Number of students in the class=1,000

(b) Number of students in the class from State X =200
(c) Number of students in the class from State Y =300

With the above information, answer the following two questions :

Sub questions

Question Number : 34 Question Id : 91394326633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is the percentage (%) of students from States other than X and Y in the class

=~

Options:

10%
913943104533,

20%
913943104534,

30%
913943104535,

50 %
913943104536,

Question Number : 35 Question Id : 91394326634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Suppose that 40% of the students in the class are female students. The number of female
Students from State X is 50 while the number of female students from State Y is 180.

What is the number of female students from other states in the class ?

Options:

170

2913942104537



150

2913942104538,

9133451045249

100
913943104540

Question Id : 91394326632 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (34 to 35)
Question Label . Comprehension

F=IfeRd 3ET & <4 -

Teh hall |
X T4 % Gy \ [T Rl
Tereneff ferameff e

a7 it Toh AeR! FeifeRa foan =i ¢ -

(a) hen H fa=nfei =61 §@&A1=1,000

(b) el H X T & oo st e =200
(c) FATHY T & faanfe=i 1 d&a =300

i~ *

IUIeRd =1 o 1Y, iR uei & IW E

Sub questions

Question Number : 34 Question Id : 91394326633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fefl § X AR Y TF % e 1= foanfef=i =61 ufoeraar (%) forat g2
Options:

10%
913943104533

20%
913943104534

30 %
913943104535



50 %
913943104536,

Question Number : 35 Question Id : 91394326634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
M e o shedl § ST &l §BA140% & | X TF i SE13T i &1 50 3R Y T4 &l SEAT i
@I 180 T

Fel H 37 TAl H1 DA T AT Thal &2
Options:

170

2123942104537,

150
913943104538

130
913943104539,

100
913943104540,

Sub-Section Number: 6
Sub-Section 1d: 9139431430
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 91394326635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
SIM means :

Options:

Special Identity Module
913943104541, :

Subscriber Identity Module
913943104542, :

Subscriber Information Module
9139431045432,

Svstem Information Module
913943104544, °

Question Number : 36 Question Id : 91394326635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fog =1 319 2 .



Options:

oy

912345104541, ARl 3-||$C—',.| cl ||§§ﬁ|

b S i bt

He{chlgdl ARSI HIS

913345104542,

HHhR TRHIA HiSTA
ey SAHHYE Hisd

913345104543,
913345104544,

Question Number : 37 Question Id : 91394326636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following printers use dry ink powder ?

Options:

Dot Matrix Printer
913943104545,

Thermal Printer
913943104546,

Laser Printer
913943104547,

Ink Jet Printer
913943104548,

Question Number : 37 Question Id : 91394326636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frafafaa ¥ 9 fag fie ¥ 2= 2% TSt 1 33 2@ € 2
Options: *

913943104545 e ﬂ-ﬁgﬁ:\q f;la

g e

913345104546,

oo e

913342104547,

3 o2 T

9133451045485,

Question Number : 38 Question Id : 91394326637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Firewalls are used to protect a computer on a network against :

Options:

Fire attacks
913943104549,

Authorized attacks
913942104550,

Unauthorized attacks
913943104551,

Internal attacks
913943104552,

Question Number : 38 Question Id : 91394326637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
U 2o o Tohdl sget 1 forad e yer &3 % fau wiawered 1 gam fon s g2

Options:

TSI =R BHAT
Q129421045449

ElIRERRE I

2123942104550

AT FHA

913345104551,

913345104552, STt gHe

Question Number : 39 Question Id : 91394326638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In comparison to secondary storage, the primary storage is :
Options:

Slower and lesser expensive

913943104553,

Faster and more expensive
913943104554,

Faster and lesser expensive
913943104555

Slower and more expensive
913943104556,



Question Number : 39 Question Id : 91394326638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
g Yo (el ©BRd) & gal § Wufbs dero (IRl ©Re) © ¢

Options:

1T 3 FH Gl

913345104553,

a1 3R <A1e] T

9123345104554,

e REEIE]

2123942104555,

T 3R AR Wl

2913942104556,

Question Number : 40 Question Id : 91394326639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Internet Explorer, Mozilla Firefox and Opera are referred to as :

Options:

Web Servers
9139432104557

Svstem Software
913943104558, ~

Application Software
913943104559,

Browsers
913943104560,

Question Number : 40 Question Id : 91394326639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TS TRTTR, TSIl THaThe 3T 3T -1 Fgdlid @ ?

Options:

ECRER

913345104557,

913943104558, | Sver SlHed«]

UATH I QIR TIT
912942104559,



2123942104580

Question Number : 41 Question Id : 91394326640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Recent study showed that, River Ganga will not flow cleaner in the near future. Which of
the following reasons is false ?

Options:

Thinning of flow rate of the river
913943104561,

Failure of treatment plants
913943104562,

Climatic change
913943104563,

Increased sewage
913943104564,

Question Number : 41 Question Id : 91394326640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

BIfeTan =39 9 var 9o fof 7 96 Fere wfas § 3R At @ JEi e | fefatad § 9
HF-97 IF TTeAd & ?

| %] & YaTE o1 &07 8
STASNEA TI3] bl fawmerdn

913342104561,

913345104562,

913943104563, ool HIRAdT

TG I ST

9123345104564,

Question Number : 42 Question Id : 91394326641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is the long term effect of cutting down larger areas of rain forests ?

Options:

Decreased carbon dioxide content in the air
9139431 04565.

Decreased flooding of low-lying land
913943104566, :



Increased rainfall in these areas
913943104567

Increased rate of soil erosion
913943104568,

Question Number : 42 Question Id : 91394326641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FEI a9l 99 &F Bl FIE F SrAEigS G9H ©

Options:

a1 H e SEHATFEES Hi 52 g A

913345104565

el sifir & a1 ST e &

913345104566

A &l | Sfek T

913345104567

gel AR | gig

2153942104588

Question Number : 43 Question Id : 91394326642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Assertion (A) : Environmental and social impact assessments never overlap with each other.

Reason (R) : Environmental and social impact assessments are effectively opposite ends
of the same spectrum.
Code :
Options:
Both (A) and (R) are true and (R) is the correct explanation of (A).
913943104569,
Both (A) and (R) are true and (R) is not the correct explanation of (A).
913943104570,
(A) is true, but (R) is false.
913345104571,
(A) is false, but (R) is true.
913345104572,

Question Number : 43 Question Id : 91394326642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

. (A) 3 (R) SH W&l €, 3 (R), (A) 1 Tl =ARA T |
(A) 3R (R) SF1 9&l &, 3R (R), (A) &1 Tl =AW T 2 |

91334510456

913345104570,

(A) T B, T4 (R) Tod €

913343104571,

(A) e B, T (R) 921 B 1

913343104572,

Question Number : 44 Question Id : 91394326643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Consider the following statements :

(a) The radiation reflected back to the atmosphere is called albedo.

(b) The atmosphere is essential in maintaining the heat balance of the body.
(c)  The heat and sunlight both pass through the atmosphere.

Which of the statement(s) given above is/are correct ?

Options:

only (a)
913943104573, -

(b) and (c)

913345104574,

(a) and (b)

913345104575,

(a), (b) and (c)

913345104576,

Question Number : 44 Question Id : 91394326643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

Fad (a)

913343104573,

(b) SR (c)

913342104574,

(a) 3R (b)

913345104575,

(a), (b) 3 (c)

913345104576,

Question Number : 45 Question Id : 91394326644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

International Drinking Water Supply and Sanitation Decade (IDWSSD) was observed
between :

Options:

1991-2000
913943104577

1981-1990
913943104578

1971-1980
913943104579

1965-1975
913943104580

Question Number : 45 Question Id : 91394326644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

1991-2000
913943104577



1981-1990

2913942104578,

1971-1960
913943104579

1965-1975
913943104580

Question Number : 46 Question Id : 91394326645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The Washington Accord, an international agreement for engineering accreditation bodies,

has Indian representation through :

Options:
UGC
2912942104551,

NAAC

2123942104582,

Higher Education Council of India
913943104583

NBA

913345104554,

Question Number : 46 Question Id : 91394326645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

S wearad el & fou saediE SR arfdimed auga 8 vra &1 wfaftaa Fefafea 3
Y forges qreag a7

| . ?la':rﬁ

9123345104581

| T T U Hl

913345104582

_Wﬁmﬁ&ﬂm

913345104583

9133451045584, EFT aﬁr T{

Question Number : 47 Question Id : 91394326646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In which year Secondary Education Commission was appointed under the chairmanship of
Dr. A.L.. Mudaliar ?



Options:

1950
913943104585,

1951
913943104586

913845104587,

1962

212942104588,

Question Number : 47 Question Id : 91394326646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
21, WUA, Heferar &1 s1egetdn § Jreafys foreq s =1 e forg 99 g8 o ?

Options:

1950
913943104585,

1951

212942104586,

1952

2913942104587

962
913943104588

Question Number : 48 Question Id : 91394326647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which among the following envisaged a common educational structure like 10+2+3 as a
common core in the curricular programme ?

Options:

Kothari Commission
913943104589,

Sinha Committee
913942104590,

National Policy on Edu. (NPE), 1986
913943104591, ‘

All India Council of Technical Education
913943104592,

Question Number : 48 Question Id : 91394326647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
frafafea § 9 fga wea=al FEEwd 8 10 + 2 + 3 Heafores 9= &6 98 i1 & §9 § giihfead
Torar o1 ?

Options:

913845104589 |

o= giHia
| e foren fifq, 1986

2153942104550

2913342104531

i AR deheient farem afeg

913343104532

Question Number : 49 Question Id : 91394326648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which scheme of Govt. of India was launched for the development of secondary education
in public schools ?

Options:

Sarva Shiksha Abhivan
913943104593, :

Rashtriva Uchchatar Shiksha Abhiyvan
913943104594, . ’

Global Initiative of Academic Network
913943104595.

Rashtriva Madhyamik Shiksha Abhiyan
913943104596, : ' '

Question Number : 49 Question Id : 91394326648 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

qd foren fyam

913845104553,

TP I foren &Afaams

213942104594,

2913942104535, : 5 { { E AT mﬁqﬁ w



TSI qreafged foer JAfaam

2913242104536,

Question Number : 50 Question Id : 91394326649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The National Education Day is celebrated every year on :

Options:

November 5
9139432104597

November 11
913943104598,

November 14
913943104599,

November 25
913943104600,

Question Number : 50 Question Id : 91394326649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

freferfiaa 9 9 form aria =1 afqad aga fen feag gamn s 22

Options:

o g
9139421045937,

11 99
913942104538,

14 A9
913942104599,

25 T =
913942104500,
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Question Number : 51 Question Id : 91394326650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following developed the four-fold classification of social actions to
understand soecial life?

Options:

913943104601, wile Durkheim

913943104602, | oMt Parsons

913943104603, X VWeber
Auguste Comte

913943104604

Question Number : 51 Question Id : 91394326650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frafafiga 4 & o gmfas Stem = guem % fou amfas Grmet 10 9r v § affem fasfim
fepam 27

Options:

913942104601, il g@fﬁq

913942104602, awTHIe TR

913942104603, e A=
HITE HiFd

2913942104804,



Question Number : 52 Question Id : 91394326651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following has developed a sociological perspective to describe social system
by a set of abstract and generalizing concepts?

Options:

913943104605, L aicott Parsons

913943104606, Lmile Durkheim

913943104607, ropert K. Merton
Ralph Linton

913343104608,

Question Number : 52 Question Id : 91394326651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Freafefiaa 4 @ fraa sopd offt amr=itera sraumonatt % a=" @ AT saaeyT & 99 FH &
foru wwrermete afdes =1 wfaarea famm 27

Options:

913943104605, TE TR
913943104606, I At
913943104607, T0¢ - HA
913943104608, 10 T

Question Number : 53 Question Id : 91394326652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who said that sociology must pay attention to the gap in ideal representations, material
social organizations and their constituent actions?
Options:

913943104609, Lmile Durkheim

913943104610, Max Weber



913943104611, Farl Marx

913943104612 L alcott Parsons

Question Number : 53 Question Id : 91394326652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fr=fafiaa & @ <9 9z Faa & 6 g it ey Fegu, bifos arnfas great ot =5t v
foramatt # afa @ e T =g ?

Options:

EuIECRCIEL]

212942104809

913343104610, fre 4w

913343104611, o

91334510461 7Z.

Question Number : 54 Question Id : 91394326653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

When there is an attitude of respect for cultural differences rather than condemning other
people’s culture, it is known as

Options:

Cultural diversity
912942104515,
913943104614, CUltural relativism
913943104615, Ethnocentrism
913943104616, Cvituraluniversals

Question Number : 54 Question Id : 91394326653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:



wiegfe fafasan

912345104613,

Hredfaeh qTiETaTg

913345104614,

EEUREFET]

2913942104815,

wiegfa arditfiramd

913345104616

Question Number : 55 Question Id : 91394326654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Guidelines which direct the conduct in a particular situation are called
Options:
Norms

913345104617,

913943104618, 2 ues

Folkways
913343104619

913943104620 Lores

Question Number : 55 Question Id : 91394326654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fereft forare fesrfer & s =6t Fdfim et ara fean-Fdan =6t e st @

Options:

913345104617,

212942104818,

2913242104819

913345104620,

Question Number : 56 Question Id : 91394326655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Van Gennep is well known for his concept of

Options:
913943104621 Doren rites
913943104622, Death rites
Rites of passage
913943104623
Marriage rites
913943104624

Question Number : 56 Question Id : 91394326655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

& 9 et fora s % forn faeama 27
Options:
913943104621 o wE
ORI

913943104622, R
913943104623 e

ferams 98
913943104624

Question Number : 57 Question Id : 91394326656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Role conflict is a situation in which a person, occupying a particular status, faces
(i) Differing demands of role partners

(ii) Differing expectations of role partners

(iii) Similar demands of role partners

(iv) Similar expectations of role partners

Select the correct answer from the code given below :

Code :
Options:

Only (i) and (iv)
913942104625,



Only (ii) and (iii)

913943104626,

Only (iii) and (iv)
913942104627,

Only (i) and (ii)
2913942104628,

Question Number : 57 Question Id : 91394326656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

e (1) 3 (iv)
913943104625,

e (i) 37T (i)
913942104626,

ad (i) 3 (iv)
913942104627,

e (i) #1 (i)
913942104628,

Question Number : 58 Question Id : 91394326657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A person is a doctor, treating patients, prescribing diets, looking after distribution of
medicines by the compounder and cleanliness of the clinie, ete. These activities of the doctor
constitute

Options:
913943104609, ratusset

913943104630, ole set

Multiple statuses
913942104621,



Multiple roles
913943104632,

Question Number : 58 Question Id : 91394326657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ueh =4fth SiFel &, 98 HI4 Hild! 1 IT=N FAT &, I8 AEH qqTd1 &, FPI3el gl gargdi & faao
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Options:

wfeufd ag=a
913943104629,

.tg&magaﬂ

913345104630

agfaw wfeafaat
A1=394=21046=21 .

e

913345104632

Question Number : 59 Question Id : 91394326658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Who has stated that role is the ‘dynamic aspect of status™

Options:

913943104633, i Merton

913943104634, M- Sherif

913943104635, 1 Hinten

913943104636, tice K- Rossi

Question Number : 59 Question Id : 91394326658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Freafafiga 7 & feaa o a1 o it sfeafa 1 nfosfiea veeg 27

Options:

912345104633, Z. 7

uq. Hfs
913943104634,



2913942104635, 3

ufer . Tt

9123345104636,

Question Number : 60 Question Id : 91394326659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Status is any stable position within a social system associated with
(i)  Specific expectations
(ii) Specific rights
(iii) Unlimited rights
(iv) Specific duties

Select the correct answer from the code given below :

Code :

Options:

Only (i), (ii) and (iii)
913943104637

Only (ii), (iii) and (iv)
913943104638,

Only (i), (iii) and (iv)
913943104829,

Only (i), (ii) and (iv)
913943104640,

Question Number : 60 Question Id : 91394326659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

Fa (1), (i) 3 (iii)
913943104637



Fad (i), (i) 3 (iv)
913943104638

Fad (i), (iii) 3 (iv)
913943104639

Fa (1), (ii) 3T (iv)
913943104640

Question Number : 61 Question Id : 91394326660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match list I with list I1.

List I List I1

(Authors) (Types of Group)
(a) Miller (i)  Community and Association
(b) Tbnnies (ii) Vertical and Horizontal

(¢) Park and Davis (iii) Genetic and Congregate
(d) Giddens (iv) Territorial and Non-Territorial
(v) Positive and Negative

Choose the correct answer from the code given below :

Code :
Options:

(a)-(i), (b)-(iii), (e)-(ii), (d)-(v)
913343104641,

(a)-(1), (b)-(11), (¢)-(111), (d)-(iv)
913343104642,

(a)-(11), (b)-(1), (e)-(1v), (d)-(111)
912345104643,

(a)-(iv), (b)-(iii), (e)-(w), (d)-(1)
912345104644,

Question Number : 61 Question Id : 91394326660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gt It g=it 11 % a1y gefea Aifsm |
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% :
Options:

(a)-(i), (b)-(iid), (e)-(ii), (d)-(v)
912345104641,

(a)-(i), (b)-(ii), (e)-(iii), (d)-(iv)
912345104642,

(a)-(ii), (b)-(i), (e)-(iv), (d)-(iii)
9133431046453,

(a)-(iv), (b)-(iii), (e)-(v), (d)-(1)
912942104844

Question Number : 62 Question Id : 91394326661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
When a slum is inhabited largely or exclusively by persons of a single ethnic or racial
group, it is called

Options:

913943104645, Concentration

Locality
9139421046546,

913943104647 Cnetto

9133451046485,

Question Number : 62 Question Id : 91394326661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:



913345104645,

a1 (qE
913943104646, (=)

- a2l
913943104647, gl (%)

913345104645,

Question Number : 63 Question Id : 91394326662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who at first introduced the concept of reference group?

Options:

913943104649 - Sheri

H.H. Hyman
913343104650,

913943104651 i Merton

913943104652, v Stoulfer

Question Number : 63 Question Id : 91394326662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Freferfiaa 4 @ forma aed vget bedf wg 1 sraamon weqa $i?

Options:

uq. Hfs
913943104649,

913943104650 .0

913342104651, . 7

T, HIFFR
913345104652, e

Question Number : 64 Question Id : 91394326663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who said that Polyandry is ‘an ethnographie curiosity™

Options:

913943104653, O Murdock

Le Play
913343104554

913943104655, V0 Goode

W.F. Ogburn
913942104656,

Question Number : 64 Question Id : 91394326663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Frefeafiga # @ foret 77 a1 2 % agafa v ‘s Jomdta aois 6t fogmar’ 27

Options:

913345104853, s

913345104654, =

geg .
913943104855, =

o, U, AT
913943104656,

Question Number : 65 Question Id : 91394326664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Who among the following has defined the State as ‘a human community which successfully
claims the monopoly of legitimate use of physical foree within a given territory™

Options:

9132942104657 L.T. Hobhouse

913943104655, o Maine

913943104659, Yax Weber

F. Engels
913943104660,



Question Number : 65 Question Id : 91394326664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Pr=fefiaa 9 @ forma =g i aforma ‘o v agm St faedt fo o s & ardifes =@ % u Wi
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Options:

. giewEa
913943104657,

. T
913943104658

9133451046549, e 4=

U, Traled

912345104860,

Question Number : 66 Question Id : 91394326665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Who among the following emphasized that the function of religious rituals is to affirm the

moral superiority of the society?
Options:

913943104661, OO Frazer

912943104660, b Durkheim

913943104663, Max Weber

E.B. Tylor
2912942104884,

Question Number : 66 Question Id : 91394326665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

F.50. T
912942104661,

3. qEfm

9123345104862,



2913942104863, e IR

3.4, Zen
913943104664,

Question Number : 67 Question Id : 91394326666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Prferfiga 7 @ si9-8 mufires gemsim & sifiemm &7
(i) giEr
(i1) o9 9qg
(i) Feped
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% :

Options:

ad (1), (i) 3 (iid)
913943104665

Fad (i), (i) 3 (iv)
913943104666

FaE (i), (iii) 3 (iv)
913943104667

Fad (1), (i) 3 (iv)
913943104668

Question Number : 67 Question Id : 91394326666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which are the agencies of primary socialization?
(i) Family
(ii) Peer group
(iii) School
(iv) Jail
Select the correct answer from the code given below :

Code :
Options:

Only (i), (ii) and (iii)
913943104665,

Only (ii), (iii) and (iv)
Q15942104666



Only (i), (iii) and (iv)
Q153942104667

Only (i), (ii) and (iv)
Q912942104565

Question Number : 68 Question Id : 91394326667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Sigmund Freud’s theory of socialization includes which of the following aspects?
(i) Acquisition of moral identity through family
(ii) Acquisition of self-concept through family
(iii) Aequisition of personal identity through family
(iv) Acquisition of cognitive identity through family
Select the correct answer from the code given below :

Code :

Options:

Only (i) and (ii)
9123942104669,

Only (ii) and (iii)
Q13942104870

Only (ii) and (iv)
913943104671,

Only (i) and (iii)
913942104672,

Question Number : 68 Question Id : 91394326667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frmve wiae =+ g w1 fagra frafafiaa 3 @ e =t affifaa 27
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Options:

e (i) A (i)

9133431046649



e (i) 3 (il
913943104670

A (i) 3 (iv)
913943104671

*ad (1) 3 (iii)
913943104672

Question Number : 69 Question Id : 91394326668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the process of socialization, who considers linguistic communication as the chief social
skill?
Options:
Piaget
913942104673

913943104674 ernstein

913943104675, Durkheim

913943104676, ead

Question Number : 69 Question Id : 91394326668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Freafafiaa # & i arsfter i fsm 3 wrors gem 6t gea arnfas Foe g 27
Options:

fers
913943104673

9133451046874,

913345104675,

2913942104676,

Question Number : 70 Question Id : 91394326669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Whose view of ‘pollution and purity’, as the ideological basis of Hindu society, is reflected in
the caste system?



Options:

913943104677, ax Weber

913943104675, oS Dumont

Célestin Charles A. Bouglé
913943104679

913943104650, ‘+M- Hocart

Question Number : 70 Question Id : 91394326669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

famg wom % S=fiss smam & w9 § formen “smfesran ot ofemar &1 femm snfa wen & wfofafem g
27

Options:

913345104677, fr

T8 S

2913942104678,

Herfees =ed U, dhrer
913943104679,

UUH, B

9123451046580,

Question Number : 71 Question Id : 91394326670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A system of social stratification continues to exist because the members of highest strata
want the system to

Options:

Change
9139421046581,

913943104652, Dc unstable

913943104653, e Stable

Progress
913243104654

Question Number : 71 Question Id : 91394326670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

araTfor Tt sxae safan o+ g & wifE I=aw w0 F a9er ed § 6 78 sraen
Options:

aqe (dfada )
913943104681,

Ao @
913942104682,

fenw
913943104683,

912345104654, =

Question Number : 72 Question Id : 91394326671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following subscribes to the view that relationships among various strata are
one of cooperation and interdependence?

Options:
913943104685, arxists

913943104656, T umetionalists

913943104657 Luralists

9139431046gg, | reractionists

Question Number : 72 Question Id : 91394326671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Freafeafiaa 4 & 27 foraw faum 2 6 faftm wd & St g o sem-Fafa % geg 87

Options:

913345104655,

PEODEIH]

913345104686,

EEEEIG]

2913942104687



o7 Fermandl

913345104685,

Question Number : 73 Question Id : 91394326672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(Given below are two statements, one labelled as Assertion (A) and the other labelled as Reasc
statements and choose the correct answer using the code given below.

Assertion (A) : Social change is a universal phenomenon and it is spread over ti
and space.
Reason (R) : Social change is the result of social confliets and it is essential an
Code :
Options:
Both (A) and (R) are true and (R) is the correct explanation of (A).
913942104659,
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
913942104590,
(A) is true, but (R) is false.
2912942104691,
(A) is false, but (R) is true.
913942104692,

Question Number : 73 Question Id : 91394326672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fr= gt e fg o &, o & v afirpe (A) 2 ot gan @ (R) @ | w6t afgu ot = fag e
Fe T AT FTE I A |

sfirmea (A) - araTfass aftad= v areitfies wer @ ot a7 g aur geernfes 7 |

e (R) : gmaTfe qiad= grafas o &1 i 8 997 98 sifard ve avgEes 2 |

C T

Options:

(A) 3 (R) YT (R), (A) 98t =araan & |
913943104659, T § @ ¢

(A) 3 (R) 391 &t &, 9 (R), (A) R adft =amen 7@ & |
913943104630,

(A) T 2, g (R) e § |
913943104691

(A) TTeid 8, g (R) ad 2 |
913943104692,

Question Number : 74 Question Id : 91394326673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Modernization views social change as

Options:

Revolution
913942104892, ary

Evolution
913942104594, ary

Abrupt
913943104695,

913943104606, | oreed

Question Number : 74 Question Id : 91394326673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

amgfrhierr § gt witads it v w9 3 Zan s 27
Options:
9139421045932 -

Ifammare

913343104694,

913345104635,

ERFGED

2129421048396,

Question Number : 75 Question Id : 91394326674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following is the oldest view about social change?
Options:
913942104637, Cyelioal

913943104608, -inear

Evolution
Q912942104599 ary

913943104700, Dalectical



Question Number : 75 Question Id : 91394326674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Freafafiga # & - amnfs sfads  fava § gad g faam 27
Options:

912345104637,

913345104635,

9133431046949

8913842104700,

Question Number : 76 Question Id : 91394326675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who said that *Society iz analogous to an organism™
Options:

L.H. Morgan
9133243104701,

913943104702, O Darwin

913943104703, ‘> Comte

H. Spencer
913943104704,

Question Number : 76 Question Id : 91394326675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
7z Tohaat = B T “omma wrewa & gam 272

Options:

U, i
913942104701, .
913942104702, .

913342104703,



913345104704,

Question Number : 77 Question Id : 91394326676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who has given methodological models for the study of society in his structural theory?

Options:

913943104705, - Nadel

913943104706, A R. Radecliffe-Brown

913943104707 O Levi-Strauss

913943104705, | aicott Parsons

Question Number : 77 Question Id : 91394326676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafefiga & & e s Teemrenss fhrgrea & orer & v ¥ wonefiadft wfrew wem fae &7
Options:

%, Ared
913943104705,

U.AN., Effas-ara
913943104706,

. seft-wgia
913943104707,

913345104705,

Question Number : 78 Question Id : 91394326677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who have shaped the structural-functionalism in social anthropology in
Britain?

Options:

B. Malinowski and Herbert Spencer
9133243104709

913943104710, B. Malinowsld and A.R. Radcliffe-Brown



Herbert Spencer and Evans Pritchard
913943104711,

913942104717, A.R. Radeliffe-Brown and J.A. Barnes

Question Number : 78 Question Id : 91394326677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Preafefiga & & frma fiea & greameae-wehrdang &t amrfoe Ifamm 3 smer o 27
Options:

@, Afefach 97 gad ot
913943104709

#t, ifetaeh 991 van, Effae-ars
913942104710

gt qer garg e
913943104711, &

U3, s A3 991 9.0, 99E
913943104712

Question Number : 79 Question Id : 91394326678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who is of the view that decisive elements of social structure consist of *surface rules’, roles
and social institutions?

Options:

913943104713 ST Nadel

913943104714, O Levi-Strauss

913943104715, A R. Radcliffe-Brown

913943104716, 1 of the above

Question Number : 79 Question Id : 91394326678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

7z Tormen famm 2 fob amnfoes gwe & Forfas sreme @ aadt (aba) Fa’, yftend aa g
ey 7

Options:



UH.UF, A1Sd

913943104713

#, et
913942104714

U, s ars
913942104715

Ioge avit
913942104716

Question Number : 80 Question Id : 91394326679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
According to Taleott Parsons, which are the structural elements of a social system?

Options:

(Goals, roles, values, statuses
912943104717,

Roles, values, statuses, norms
912943104718,

Values, norms, goals, institutions
91=Z9421047149.

Roles, goals, norms, values
913943104720,

Question Number : 80 Question Id : 91394326679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ZTeTehic UTH-H & AR, GTHTheh sqaedl & Gia-Ts Haqd FiH-w-a 8 87

Options:

@e, fteerd, o, wfeufrat
913943104717, i

ftrerd, e, wfeufeat, sfonm
913942104718

qeq, ufem, @g, geand
913943104719

yftrerd, @, wfemm, g7
913942104720

Question Number : 81 Question Id : 91394326680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who has refuted Malinowski's idea of ‘functional indispensability’ and introduced the
concept of ‘functional alternatives'?
Options:

913943104721, Lalcott Parsons

913943104702, i Merton

913943104723 +F- Radeliffe-Brown

Kingsley Davis
913942104724

Question Number : 81 Question Id : 91394326680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fr=fefiaa 7 @ femm Afemiasht it gertom sfErdar & fmn =1 g7 w0 et faweat
&t aragron 1 wfeareT frm 27

Options:

913343104721,

913343104722, . 7

o, Effasars
913943104723,

2913942104724,

Question Number : 82 Question Id : 91394326681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who is the author of the book *Crime and Custom in Savage Society™
Options:

913943104725, O Malinowski

913943104726, O 2mes G. Frazer

913943104727, A.R. Radcliffe-Brown

E.B. Tylor
Q133942104725 B



Question Number : 82 Question Id : 91394326681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
G ‘SIgH UVE HELH 3 Ba9 HHATEd & oEs w87

Options:

9123345104725, .

ag S, B
913943104726,

U.AN., Effas-ara
913943104727,

3.4, g
913943104728,

Question Number : 83 Question Id : 91394326682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who has given the idea of abnormal forms in the study of social functions of division of
labour?

Options:

913943104709, dam Smith

913943104730, e Durkheim

913943104731, | alcott Parsons

913943104732, arl Marx

Question Number : 83 Question Id : 91394326682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
freafafiga & @ fram am-favres % arnfees vl % sterga § sgam=a =91 %1 fa=wn vem fea 27
Options:

farg
9139431047249 A

ELIEC RC L]

913345104720,

912345104721,



2913942104732, W

Question Number : 84 Question Id : 91394326683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In symbolic interactionism, who among the following, often refers to ‘objective relativism as
objective reality of perspective™

Options:

912942104733 G.H. Mead
913943104734 |- Dlumer
913943104735, - Mead
913943104736, O Simmel

Question Number : 84 Question Id : 91394326683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafefiga & & i wdfterens sfa:framarg 3 Twafise arisar #t wm: get 6t swafe awafewr’
HdT 27

Options:

Wt.u=. Hs
9139423104733

e, =
913942104734

. Hg
913942104735, ©
913942104736, .

Question Number : 85 Question Id : 91394326684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Wheo, among the following is of the view, ‘meaningful social action consists of any course of
action in which subjective meaning guides the action'

Options:

913943104737 | oot Parsons



Max Weber

913943104738,
913943104739 1ra Cohen
91394310474p, O ean Paul Sartre

Question Number : 85 Question Id : 91394326684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frafafia & @ a7 T fomm 2 for “arefe armfos fen & tft <6 fenfafy 2t ot @ foad =0
ferfrea wvef foren w1 wmrigef wean 277

Options:

913345104727,

913845104735, e

EE L

913342104729

212942104740 =t S A

Question Number : 86 Question Id : 91394326685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to which perspective, do meanings of a phenomenon neotf reside in the object but
emerge from social processes?

Options:

Symbolic interactionism
913343104741,

Ethnomethodology
913345104742,

Phenomenology
913943104743,

913943104744 ool action

Question Number : 86 Question Id : 91394326685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frfefiaa o & form dest & eman, frdt e &1 1 agg & fafem 7@ g afees a8 g
wfsranadt & 3oaa gt 27

Options:

Te TehTcHeh 37=d :Tshamare
913943104741

Fonfa swrrsoet
913943104742,

e fasm
913345104743,

913345104744,

Question Number : 87 Question Id : 91394326686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following argues that social structures may be translated empirically into
‘patterns of repetitive micro interaction™
Options:

913943104745, A Coser

913043104746, - Debrendorf

913943104747, 1 Collins

913943104748, J.8. Coleman

Question Number : 87 Question Id : 91394326686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Freafafiaa # & o7 forae o & f6 arnfaes gt =t ‘wrogdt gea oG % sfredt (Sed)’
% armufas w9 o uftore o o gevar 27
Options:

Q12942104745 -

HI, TaErh

913345104746,

913345104747, 3.



A7, HiAH
913943104748,

Question Number : 88 Question Id : 91394326687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who has used the term ‘fetishism of commodities’ while analysing social conditions?

Options:

913943104749, -ukacs

913943104750, VAT

913943104751 ‘pusser

913943104750, Cddens

Question Number : 88 Question Id : 91394326687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafafiaa o & fras g feufeat 1 favemm @ omg ‘swgad 6t wliwiaufs (Sl o
wiifedtar) ug &y e 27
Options:

912345104749,

9123345104750,

913345104751,

=]

913345104752,

Question Number : 89 Question Id : 91394326688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who has rejected the idea that conflicts of interest based on differences in power can ever be
removed?

Options:

913943104753, 1 Dahrendorf

913943104754, 1 Collins



913943104755, - Marx

913943104756, - weber

Question Number : 89 Question Id : 91394326688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fore 38 formm =t sredtenn forn fof wifte d oma w smafia fRal & eovta =6t 4t g2 o o whan
27

Options:

AN, SEASh

913345104753,

913345104754, .

8913845104755, .

TH, 9t
913943104756,

Question Number : 90 Question Id : 91394326689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following is not a contrast between quantitative and qualitative research?

Options:

Distance vs proximity of researcher to participate
913343104757,

Generalization vs contextual understanding
913345104755,

Hard, reliable data vz rich, deep data
913942104759

Interpretativist vs feminist
913942104760,

Question Number : 90 Question Id : 91394326689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

freaferfiaa & & s-an sramers Tu1 oo iy % ot SR @ 27
Options:

W & arel et i gl s Freean
913943104757



g 59 wely =g
913943104758,

913942104759, w© e

SATEATATS] WA AHRIaTe!
913343104760,

Question Number : 91 Question Id : 91394326690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following distinguished between ‘nature’ and ‘society’ clearly in reference to
method of social inquiry?
Options:

913943104761 ax Weber

Johan Galtung
913942104762,

W. Dilthey
913243104763,

913943104764 L vans Pritchard

Question Number : 91 Question Id : 91394326690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fFreferfiga & & forma arafores g & fafer o gef 3 v w9 @ ol offt “ware’ & it fadig foeen
87

Options:

2123942104781, e IR

FeE e

913845104762,

913345104763,

zar4 =
913943104764,

Question Number : 92 Question Id : 91394326691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



From among the Indian sociologists, who pleaded for an integrated approach to the study of
social phenomena?
Options:

D.P. Mukerji
913942104765,

Radhakamal Mukherjee
2123942104786,

Ramkrishna Mukherjee
9133942104767,

913943104763, ndre Beteille

Question Number : 92 Question Id : 91394326691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafafiga wredta warsranfiasi & @ frm amfaes sfgemstt % srerm & fou vdfiea sarm & $dt
77

Options:

& . gl

913845104765,

TYTHHe &l

913345104766,

913345104767,

A3, FE

9123345104765,

Question Number : 93 Question Id : 91394326692 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is a research design?
Options:

A way of conducting research that is not grounded in theory
913942104769,

The choice between using quantitative or qualitative methods
913942104770,

Style of presentation of one’s research findings
912942104771,

A framework for data collection and analysis
913943104772



Question Number : 93 Question Id : 91394326692 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
wite Afirerey (Foael feames) = 27

Options:

913943104769, At 0 i o st Rrgra w0 s @ @

913943104770, o fafert o st < o fase

v forert 3 sreqeteor 1 St
913943104771,

HAiwgl Hohead A fagemo K =9
9139432104772

Question Number : 94 Question Id : 91394326693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The conceptual typology of participant and non-participant observation was introduced to
social research by
Options:

913943104773, Laward Lindeman

913943104774, ol Anderson

W.F. Whyte
4139431047 75.

Paul Cressey
913942104776,

Question Number : 94 Question Id : 91394326693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TewTt 3R sTEevT FTaeEa F1 GYeEATeS WY ATt ey # frmes g woey feRm R a7

Options:

uEas ot
913943104773

o8 Trede

913343104774,

5 TP, =Elee
913345104775,



2913942104776, et

Question Number : 95 Question Id : 91394326694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following defined ‘content analysis’ as a ‘research technique for the
objective, systematic and quantitative description of the manifest content of communication'?

Options:

John Madge
9192423104777
913943104775 O Derelson

PV. Young
915943104779,

G. Lundberg
91942104780,

Question Number : 95 Question Id : 91394326694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafefiaa 4 @ fra “fam-awg favemor 6t aftumn dem i weay fava-asg % swgfss, saafom
F aftamomesss avia it Wiy TS w9 ° 27

Options:

913943104777, 1
913943104775 - T
913943104779, -
913943104780, Sft. grear

Question Number : 96 Question Id : 91394326695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A method in which the recollections of living persons are collected for the present and the
archives, is called

Options:

Life History
913942104751,



Oral History

913943104732,

Case Study
913942104783

Content Analysis
2912942104754,

Question Number : 96 Question Id : 91394326695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

a7 fafu foredl <fifaa =aferdl i degfa adam qun qoere % foav g 1 ot 8, Feard &
Options:

-
913943104781, T

9133431047582,

913345104783,

2913942104754,

Question Number : 97 Question Id : 91394326696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following are qualitative variables?
(1) Age

(i1) Sex

(iii) Income

(iv) Religious faith

Select the correct answer from the code given below :

Code :
Options:
Only (i) and (ii)
913943104785
Only (iii) and (iv)
913943104786,

Only (ii) and (iv)
2123942104787,



Only (i) and (iii)
9139431047588,

Question Number : 97 Question Id : 91394326696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

freafafias & @ -2 qomers = 87
(i) 11y
(ii) femr
(iii) 3"
(iv) wrffe sqreen
Hr= feu o e # | et I w9
ETE
Options:
e (1) 31 (id)
913943104785,
e (iil) 3 (iv)
913943104786,
s (i) # (iv)
913943104737,
*ad (1) # (iii)
913943104788,

Question Number : 98 Question Id : 91394326697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The extent to which a measure or method of data collection possesses the quality of being
true, is known as

Options:

Reliability
913943104789,

Validity
913943104790,

913943104791 Correlation

913943104792, ‘issocation

Question Number : 98 Question Id : 91394326697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

form it e+ tihet T wrot srvan fafy oo 2 Y e wadt @, FEardt @
Options:

912342104789

913345104730,

913345104731,

arg=d

9123345104732,

Question Number : 99 Question Id : 91394326698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following is a test for measuring the level of significance of relationship
between two variables?

Options:
913943104793 Correlation coefficient

913943104704 ' onance

Yule’s Q
2912942104735,

913943104796, T-test

Question Number : 99 Question Id : 91394326698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Freafafign # & S & =0 & <9 g9 1w T AT F o T 7
Options:
9123942104732

2129421047394,

Eal
2913942104735, mHQ

913943104796, -t



Question Number : 100 Question Id : 91394326699 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which measure of central tendency can be caleulated from a distribution when both ends of
the table are open?

Options:

913943104797, Vean

91394310479g, Vedian and Mean

913943104799 edian and Mode

913943104800, Yean and Mode

Question Number : 100 Question Id : 91394326699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

st Freft % g1 8 gd 8, 9t 36 faao @ S vafa i fea e i o i snoawd 27

Options:

913345104737,

9123345104735, 3R e

e 3 ageh
913943104799,

arey 3R agE
913943104800,

Question Number : 101 Question Id : 91394326700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List I with List 11.

List I List I1
(Concepts) (Proponents)
(a) Stock of knowledge (i) Garfinkel
at hand
(b) Self as a product of dramatic (i) Schiiltz
interaction
(e) Accounting (iii) Berger and Luckmann

(d) Social construction of reality (iv) Goffman

Select the correct answer from the code given below :

Code :
Options:

(a)-(i), (b)-(ii), (e)-(iii), (d)-(iv)
9123421045801,

(a)-(ii), (b)-(iv), (e)-(i), (d)-(iii)
9123942104502,

(a)-(iv), (b)-(1), (e)-(ii), (d)-(iii)
913342104302

(a)-(iii), (b)-(iv), (e)-(i), (d)-(ii)
9123421045804

Question Number : 101 Question 1d : 91394326700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

gt 1t gt 11 % a1y gfea fifsm |
1 et I
(srauTum) (wferare)
(a) BT ® T F SN (i) TmfEeRe
(w2t 37 e @ ¥=)
(b) Frehra Fafda % IUg hEIH AW (i) YooA
(8% U ¢ Hiswe A grifed goeem)
() @R (whrsfé) (iii) "o 3 T
(d) =emef <1 Gt Fmfo (iv) 7w
(e Fegaer 31 fofedt)
fr= fou e e @ wdt I = Hifag
% :
Options:

(a)-(i), (b)-(ii), (e)-(iii), (d)-(iv)
912942104801,

(a)-(ii), (b)-(iv), (e)-(i), (d)-(iii)
912942104302,



(a)-(iv), (b)-(1), (e)-(ii), (d)-(iii)
913342104803,

(a)-(1ii), (b)-(iv), (e)-(1), (d)-(11)
912345104504,

Question Number : 102 Question 1d : 91394326701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following terms was not used by Garfinkel to explain sense of order?

Options:

913943104805, Licetera rules

Taken for granted rules
912942104506,

Glossing
9139431045807,

Discourse analysis
913942104808,

Question Number : 102 Question Id : 91394326701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

THfthhel 3 sqaedT ! a1 it =41ed1 4 * foru fFefefiaa & @ fra e =1 w78 foran an?
Options:

aife Fem
913943104805

=d: 7 foram
913943104806, fer e

gerest e (et wen
913943104807, ( )

va=A favem (fernrd wnfeafam)
913343104808

Question Number : 103 Question 1d : 91394326702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Schultz explained ‘Life-World' in terms of certain features. Point the wrong one out.
Options:

It is world of everyday life.
913943104809



It exists out there.

912342104510,

It iz shared and private.
913845104511,

It is intersubjective.
913343104512,

Question Number : 103 Question Id : 91394326702 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

goed + Saa-arra’ 6t s Rawmat 6 ghe @ saren 6t @ | s mem w5t fafga £t )
Options:

913345104509, i 5 Sl 1 T § |

, ggl femmm |
913943104810, e, T e &

A fsft 21
913943104811, & S ?

I8 A~dfauafass 2 |
913943104812,

Question Number : 104 Question 1d : 91394326703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Alexander pointed out some problems of structural-functionalism, which need to be
surmounted by neo-functionalism. Which one of the following has not been pointed out by
him?

Options:

913943104513, Conservatism

913943104514 | hdividualism

913943104815, |oealism
Anti-empirical bias

913943104516,

Question Number : 104 Question Id : 91394326703 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ATt | GreHTeTh-Yehrarg i T guenait it aqran & Rt T6-ywrfarg wt g e g )
freafafiaa 4 @ - sa% gro 7@ aamn w7

Options:

wfgarq

2913942104813,
212942104514,

913845104515,

st e e

9123345104516

Question Number : 105 Question 1d : 91394326704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
What did Althusser achieve by separating Marx’s writings into four periods?
Options:

Rejected humanistic Marxism
9139421045817,

Simplified Marxism
9139421045818,

913943104519, Criticized Marxism

Highlighted Marxian ideas
913942104820,

Question Number : 105 Question Id : 91394326704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FEYET T AR F @Al H A Frer § fawfad sk wmn e e
Options:

913342104817, # il

qreeaTe 1 Blete e
913942104818

qrdare it A=A H
913942104819

2133942104820 # fean



Question Number : 106 Question Id : 91394326705 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Habermas analyzed crisis in four types of society. Point the wrong one out.

Options:
913943104521 | rimitive
913943104822, | cudal
Capitalist
913943104523,
Post-Capitalist
913943104824,

Question Number : 106 Question Id : 91394326705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
RETHTE J GHTA & 91 T # e 1 favemy frar 2 | o Tea i fafea fifs

Options:

912345104821,

913345104822,

eftaret

2123942104525,

Fe-goftardt

913345104824

Question Number : 107 Question Id : 91394326706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Language, according to Derrida, is

Options:

An orderly and stable system
913943104525,

A disorderly and stable system
2139421045826,

A disorderly and unstable system
913943104327,



An orderly and unstable system
913943104328,

Question Number : 107 Question Id : 91394326706 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
sfter % srgEm w2

Options:

U sqaftiy it fo8r sqaen
913943104825

U FHeaftq i for sqaen
913943104826,

U Feaftq 3t arfen sraen
913943104827,

U sqafeid i #fER sqae
913943104828,

Question Number : 108 Question Id : 91394326707 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following assumes that dualisms are never equivalent but are
hierarchically ranked?

Options:

913943104529 ‘ipusser

913943104830, ermida

91394310453, Cddens

913943104832, | oucault

Question Number : 108 Question Id : 91394326707 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Prafafias 9 & 17 77 wmar 2 6 Suard wft off wages 7 § il gofs #a d €7

Options:

Heqal
212942104529

913343104520,



fra

913345104821,

T

91334210483 Z.

Question Number : 109 Question Id : 91394326708 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : More rural to rural migration is taking place in India nowadays.
Reason (R) : In intensive agricultural areas, local labour for agriculture is not available.

Code:
Options:
Both (A) and (R) are true and (R) is the correct explanation of (A).
9123942104323

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q9129423104524

(A) is true but (R) is false
2123942104535,

(A) is false but (R) is true
9139431048326,

Question Number : 109 Question 1d : 91394326708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fr= 31w fu e 8, o & u arfirenem (A) 2 3 q@0 7% (R) @ | et 1 afen oftt = i o
e &1 FE F T I g |

Aftre (A) : wrd § 3 At oo & grefror vamm sifiss gt @ 21
@ () : e FY &= § F % for vt gfies svees 76 € 1
% :

Options:

(A) 3R (R) 74T (R), (A) A 98t sqren 2 |
913943104833 T w L

(A) 3 (R) 591 5@ &, 9l (R), (A) i gt samem 721 2 |
913943104834,

(A) wét 2, ¥g (R) Terd 2 |
413943104835



(A) TeAd 8, W (R) @&l & |
913943104836,

Question Number : 110 Question 1d : 91394326709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Foucault does not subscribe to which one of the following statements?

Options:
913943104837, ower is diffused.

Power is pervasive.
912943104528

Power is embodied in regimes.
913343104539,

Power is purely coercive.
913343104540,

Question Number : 110 Question Id : 91394326709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

gt Freaferfian st & @ frae oo 78F w27

Options:

o faafm 2
913943104837,

e ST & |
913943104838,

oo e ® e B |
913943104839,

g fagg w9 & graert 2
913943104840

Question Number : 111 Question Id : 91394326710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which is the correct sequence of the following publications of Foucault?
(i) The Birth of the Clinie
(ii) The Care of the Self
(iii) The Use of Pleasure
(iv) Discipline and Punish
Choose the correct answer from the code given below :
Code :

Options:



(1), (11), (iw), (1ii)
913342104541,

(1), (1), (iii), (1v)
912345104542,

(1), (iw), (i), (iii)
913345104543,

(i), (1), (i), (iii)
2913942104544,

Question Number : 111 Question Id : 91394326710 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gl % fFrefafiaa sl = a8t wa #la 27
(i) 3 = 3 g wfifen

(ii) g T 3715 g U

(iii) g I 3% o

(iv) feftrfeer g afm

Fr= faw o e # @ v I g

%< :

Options:

(1), (ii), (iw), (1ii)
212942104541,

(1), (1), (ii1), (1v)
912334510454Z.

(1), (iw), (i), (iii)
912345104543,

(iw), (i), (i), (iii)
913845104544,

Question Number : 112 Question Id : 91394326711 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who has observed that the ‘unity of India is essentially a religious one™
Options:

913943104545, |ouis Dumont

Radhakamal Mukherjee
913942104546,



913943104847, LN Srinivas

D.P. Mukerjee
9133451045485,

Question Number : 112 Question Id : 91394326711 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
7 fecaoft formar it & 6 ‘v it wehan sifard w9 @ aififss vk 77

Options:

o8 S

913345104545,

THTHA !

212942104546,

=, HifEma
913943104847, R

& Rt gt

9133421045485,

Question Number : 113 Question 1d : 91394326712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who has used the terms ‘harmonic’ and ‘disharmonic’ as two models through which the
system of social stratification in India and the West could be compared?
Options:

9139431045449, Louis Dumont

913943104850, ‘v Desal

913943104851, Vekim Marriott

913943104550, ndre Beteille

Question Number : 113 Question Id : 91394326712 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Frferfiga & & foraa <t wieal % w9 & ‘guar o ‘sramgar’ wegt & v foran & fogss wrem &
i 3t ufvem & grnfee sl 6 saawn i goen i o awdt 27

Options:



¢ S

9123451045449,

U.HAN, ¥ETE

913342104850,

st A

913345104551

| R

913345104852

Question Number : 114 Question Id : 91394326713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Mateh list I with list IT.

List I List 11
(Books) (Authors)
(a) The Second Sex (i)  J. Freedman
(b) Feminism (ii)  .J. Butler
(¢} Sexual Politics (iii) S. de Beauvoir

(d) Gender Trouble  (iv) K. Millett
Select the correct answer from the code given below :
Code :

Options:

(a)-(iii), (b)-(i), (e)-(iv), (d)-(ii)
912345104853,

{al)-(i), (b)-(iv), (e)-(iii), (d)-(ii)
Q912942104554

(a)-(ii), (h)-(iii), (e)-(iv), (d)-(1)
Q15942104555

(a)-(iv), (b)-(ii), (e)-(1), (d)-(ii1)
Q912942104556

Question Number : 114 Question 1d : 91394326713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



gt 1%t g=ft 11 % =y gafeq Hifsg

gl | II

(gee) (vr)
(a) € G- HaE (i) = wref=
(b) e (i) W, "EeW

(c) Hagare difefesd (i) wd. & seEtR
(d) Set gae (iv) . firere

fr= feu o 2 @ adt I w1 = Aif
+ :

Options:

(a)-(iii), (b)-(1), (e)-(iv), (d)-(ii)
913345104853,

(a)-(1), (b)-(iv), (e)-(iii), (d)-(ii)
913345104554,

(a)-(ii), (b)-(iii), (e)-(iv), (d)-(1)
913342104855,

(a)-(iv), (b)-(ii), (e)-(i), (d)-(iii)
913345104856,

Question Number : 115 Question Id : 91394326714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who has applied the dialectical approach to the study of the emergence of nationalism in
India?

Options:

Yogendra Singh
Q139432104857 o8 g

Ranjit Guha
2123942104858,

913943104859, ‘> Desal

913943104860 LN Srinivas

Question Number : 115 Question Id : 91394326714 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafefiaa 4 & fraa wia o wsgarg % 359 o e o ggrews IumTy 1w fRm R

Options:



T, fle

913345104857,

913342104855,

T, TS

212942104559,

=, HifEma
913943104860, R

Question Number : 116 Question Id : 91394326715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following tribes belongs to the Andaman and Nicobar Islands?
Options:

913943104861, 092

913943104862, ©2Tava

913943104863, 20T

2913942104564, Bhil

Question Number : 116 Question Id : 91394326715 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafafiaa o & -t v sanfa stgam sit Frepram fomgg 1 27

Options:

913343104561, &

2123942104882,

2913942104863, A

913343104564,

Question Number : 117 Question Id : 91394326716 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A study based on facts which are derived from the religious texts like the Vedas and
Upanishads represents which one of the following perspectives?

Options:

Indological perspective
Q139432104865 oglcat pe

Structural-functional perspective
Q139432104866 pe

Civilizational perspective
Q12942104867 pe

Historical perspective
9139432104885, pe

Question Number : 117 Question 1d : 91394326716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

urfife Tl S8 3 oft sufieg & sgea et W snurfa sverm frafafiaa ofcedt & @ e
yfafifires s 27

Options:

2913942104865,

913343104566,

913342104867,

tferarfees afties

2129421045888,

Question Number : 118 Question Id : 91394326717 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who has used subaltern perspective to understand the Indian social situation?
Options:

G.S. Ghurye
2123942104889,

912345104870, NK.

913943104571 1+ Dumont

913943104572, David Hardiman



Question Number : 118 Question Id : 91394326717 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fere vt o feufa =t awsd % fon swifya sfdes = wam fen 27

Options:

oft.wm. i
913943104869,

U4.%. &9
913943104870,

. Sl

9123345104871,

sfae wifdta

913345104872,

Question Number : 119 Question Id : 91394326718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What was the poverty line limit of income set by the Planning Commission for rural and
urban areas respectively?

Options:

913943104873, | 2oand ¥ 34

913943104874, < 20 and T 32

913943104575, © 20and T 28

913943104876, < S0 and ¥ 36

Question Number : 119 Question Id : 91394326718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AT AT % gra s Trtor af weht & % e Frdaan v 6 Faffea s i feat ot ?
Options:
9123942104873 T 289 T 34

913345104574, T 26 3l T 32

2123942104575, T 203 T 28



2123942104876, T 303 T 36

Question Number : 120 Question Id : 91394326719 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : A study conducted in 2014 reports that the reported sexual
violence rate in India is among the lowest in the world.

Reason (R): Majority of the cases remain unreported because of the reluctance
among the victims.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A)
913943104877,

Both (A) and (R) are true and (R) is not the correct explanation of (A)
913942104878,

(A) is true, but (R) is false
9133451048749,

(A) is false, but (R) is true
9129432104580,

Question Number : 120 Question Id : 91394326719 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Fr= 3t wuw fu e 8, o & us Ao (A) @ 3 q@0 7% (R) @ | el it afen ot = g o
e AT F T I g |
e (A) : 99 2014 ¥ FoFu MU U eqga & gar Sear & 6 wma # dgfaa doaedte f @ fawa
# =EaH 2 |
% (R) : Fftrehew e Iefifeal 6t stfreer & wro ggfad 78 feo wm €

% :

Options:

(A) #(R) 79T (R), (A) i 98t =g & |
913943104877, & w &

(A) 3R (R) ST 5@t &, TG (R), (A) i Tt sarem 78 § |
912943104575,

(A) Tét 8, g (R) T § |
913943104879,

(A) TTed 2, Wg (R) 98 2 |
912942104880,



Question Number : 121 Question Id : 91394326720 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which state has the lowest growth rate of population, according to the census of

India — 20117
Options:
Punjab
9139432104881,
913943104852, arnataka
913943104583 L omil Nadu
Keral
913943104884, o0

Question Number : 121 Question Id : 91394326720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
WA = ST — 2011 % TFER fofa e § seaea 6 afg @ =g 27

Options:

912345104581,

913345104882,

913342104883,

912345104554,

Question Number : 122 Question 1d : 91394326721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which dimension of secularism stated by T.N. Madan is not true?

Options:

The separation of State from religion
913943104585,

Partial treatment of some communities by the State
913343104586,

Approaching religious beliefs in a spirit of objective rationali
913942104887, PP g . P ) w



Ensuring a just standard of living for all le irrespective of communi
913943104888, gal g peop pecti ty

Question Number : 122 Question Id : 91394326721 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
.04, "M F AFIER qHiEEa 1 wE-a A w@ A 27
Options:

o & T it gy
913943104885,

=9 TS & WY GETITa SHaEi
913943104886, L

aeqfne faasrfterar & wra & @ry aififs araaist H
913943104887, e b

913943104888, wft ATt % fere 7 wger % Freve =t e T gl Fo

Question Number : 123 Question Id : 91394326722 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is the percentage of statutory towns in India which reported their slum population
(as per 2011 census)?

Options:

2913942104589 48

913345104830, 63

9123345104551, 58

2123942104592 8

Question Number : 123 Question Id : 91394326722 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e # aifafies wed, faeg st ofes axft i g (2011 ) S=moET % sER) @91 8,
fersra feran 27
Options:

9133431045849 48



912345104530 63

913342104591, 58

913845104532, 8

Question Number : 124 Question Id : 91394326723 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(Given below are two statements, one labelled as Assertion (A) and the other labelled as Reasc
Read the statements and choose the correct answer using the code given below.

Assertion (A) : Displacements threaten the poor and the weak with even
greater impoverishment.

Reason (R) : They are not properly rehabilitated after displacement.
Code :

Options:

Both (A) and (R) true and (R) is the correct explanation of (A).
913942104533

Both (A) and (R) true and (R) is not the correct explanation of (A).
913942104594

(A) is true, but (R) is false.
Q912942104595

(A) is false, but (R) is true.
9153942104596,

Question Number : 124 Question Id : 91394326723 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fr= 3t wuw fu e 8, o & us Ao (A) @ 3 q@0 7% (R) @ | el it afen ot = g o
e AT F T I g |
e (A) : foeama frefa ofk el =t 1l arfores P S aqt d s 7

% (3) : farzermas & e 3 wafaa gata 78 forar sman 2
% :

Options:

(A) #(R) 79T (R), (A) A 98t =31 & |
913943104893 T w ?

(A) 3t (R) 31 &t &, wig (R), (A) A adft samem i 2 |
913943104894,

(A) W B, Wig (R) e & |
913943104895,



(A) TeAd 8, W (R) @&l & |
913943104896,

Question Number : 125 Question 1d : 91394326724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

As per Census 2011, what is the percentage of urban population which lives in Class I cities
of India?

Options:

9133451048557,

912345104555, 70.2

9133431045949 601

g}
o
o

913345104300

Question Number : 125 Question Id : 91394326724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

¥ 2011 6t FTUET F AR, WG H Aoft 1 F @ @ e sawen & ufawa e 2

Options:

9133421045397,

913345104535, 70.2

9123451045399, 601

o
o
o

913343104300

Question Number : 126 Question Id : 91394326725 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to which theory ‘behaviours are deviant when and only because people identify
them as such™

Options:

Control theory
913942104301,

Structural Strain theory
913343104302,



Labeling theo
9123943104903 g v

Differential Association theory
913942104304,

Question Number : 126 Question 1d : 91394326725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
form forgra & sqam, “Srarn faamr g § it U ot gt 2 St S et 08 @ weer €7

Options:

Frerm fergrea

913342104301,

AT dera fagrea
913943104902,

FrrE g

2123942104303,

farvig ame=d fagra

2133942104304,

Question Number : 127 Question Id : 91394326726 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who has defined ‘deviance’ as, ‘the tendency on the part of one or more of the component
actors to behave in such a way as to disturb the equilibrium of interactive process'

Options:

913943104905, i Merton

C.H. Cooley
913943104306,

913943104907, - Mead

913943104908, | Larsons

Question Number : 127 Question Id : 91394326726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“Femmar=a’ it forat 5o s wforfie feem 2, o svaan sifirs wwraaet saf &t af & et wafa
fored g 39 W sqaer w1 & 6 s=a.frn wehw 1 aqem ferrg s 272

Options:



2913942104305, AR, 7

dt.ue. Fe

912345104306,

913345104307,

912345104305, a.

Question Number : 128 Question 1d : 91394326727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
According to R.K. Merton, drug addicts follow the path of
Options:
Ritualism
913943104909,

913943104910, | rustration

913943104911 letreatism

Rejectionism
913943104912,

Question Number : 128 Question Id : 91394326727 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

HIL%. T4 & AR, U1 god oaat foha art 1 srgean wear 37

Options:

FHERUEATE

212942104309

912345104310,

9123345104511,

9123451045912,

Question Number : 129 Question Id : 91394326728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Who argued that rates of suicide are related to the type and level of social integration
within a society?

Options:

J. Douglas
913943104913

P. Sainsbury
913943104914,
913943104915, L Durkheim
913943104916, o Morsell

Question Number : 129 Question Id : 91394326728 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
7% Teraem we= & o atrergen 6t < ot gare d arnfaes v & wor a1 & & gefia §7

Options:

9133421043913, .
9123345104514, @

{ gafém
913345104915,

3. Hideett
9123451043916,

Question Number : 130 Question Id : 91394326729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.
Assertion (A) : Traditional role structures are giving way to modern ones in the

present times.

Heason (R): Persons following those roles often retain categorical values of tradition

instead of modernity.
Code:
Options:
Both (A) and (R) are true and (R) is the correct explanation of (A).
913942104917,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q912942104915



(A) is true, but (R) is false.
Q1594210449149

(A) is false, but (R) is true.
Q9129423104920

Question Number : 130 Question 1d : 91394326729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

= 3w fen o B, ol & o arfirme (A) B offt g0 % (R) R | o w0t ofge of = fag e
e &1 T4 F T I g |
Sfiehe (A) :  aduT Ta & TrRafn i araanst o e sngfe e g & @ E
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|
% :
Options:

(A) 3 (R) 79T (R), (A) i 9t =amean & |
913943104917, i & w ¢

(A) 3t (R) 51 &t &, W (R), (A) R ot =arem i & |
913943104918,

(A) T &, wig (R) e # |
913943104919,

(A)Ted B, W (R)H& 2 |
Q912943104920

Question Number : 131 Question Id : 91394326730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following does not create a debate on nationalism?

Options:

Feeling of belongingness
Q13943104921 & ging

Feeling of religious differences
212942104922,

Feeling of linguistic differences
913943104923

Feeling of deprivation in icultural practices
913943104924 & P agt P

Question Number : 131 Question Id : 91394326730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frafeafigs 4 & #i9-a1 warg w i 984 U1 78 w27
Options:

A4 %1 9"
9133451043921,

2123942104922 I

s e =1 wE
913943104923,

&t % 4 afaa 27 *1 v
913943104924

Question Number : 132 Question 1d : 91394326731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following is not included as one of the goals of the Science, Technology
and Innovation Policy of India (2013)?
Options:

Promotin read of scientific temper among all sections of socie
Q13942104925 8P pe 8 W

Positioning India among top five global scientific powers by 2020
G12942104926, 8 &P g po Y

Creating robust national innovation system
913942104327,

Fostering scientific research in universities and academic institutions
9123942104928,

Question Number : 132 Question Id ;: 91394326731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frfafiga & @ S9-a1 v yra 6 fagm, deifieh aon Favads fife (2013) % 94t § aftfam 8
87
Options:

aars % avft ant § St o fawfia 6@ =t 9@ & @ S
913943104925,

a9 2020 7 fava $i 3 ofe S ofwt § yra =t wnfig s
913943104926,

T Aagad qumet 0 fFmfor s
913942104927 B



favafaememi a1 Sefire Gensi & Ssnfw Mg +i 5g@mr &
913943104928

Question Number : 133 Question Id ;: 91394326732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The apparent purpose of privatization of education is to improve the quality

of education.
Heason (R):  Majority of State-run educational institutions are unable to provide
quality education.
Code:
Options:
Both (A) and (R) are true and (R) is the correct explanation of (A).
9139421045929,
Both (A) and (R) are true, but (R) is not correct the explanation of (A).
913942104920,
(A) is true, but (R) is false.
915942104531,
(A) is falze, but (R) is true.
9123942104922

Question Number : 133 Question Id : 91394326732 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fr= 3t wuw fu e 8, o & us Ao (A) @ 3 q@0 7% (R) @ | el it afen ot = g o
e AT F T I g |

stfirre (A) : Fan & Frfreor ot wase sy @ fvem < wuraen & gum & |

T (R) : Fftreie sy gaferd Srefores geem uraemgel e wer e # stmmed §
C T
Options:

(A) #(R) 79T (R), (A) 92t =91 & |
913943104929, T @ &

(A) 3t (R) ST wdt &, W (R), (A) i w8t samem 76 2 |
913943104930,

(A) &&t 8, 9ig (R) Ted |
913943104931,

(A) TTed 2, Wg (R) 98 2 |
9129421045932,



Question Number : 134 Question Id : 91394326733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who was the first sociologist who studied the implementation of the Community
Development Programme (C.D.P.) in the first five year plan?

Options:

913943104933, L. Srinivas

913943104934 T Desal

913943104935, > C- Dube

R.D. Singh
913943104936,

Question Number : 134 Question Id : 91394326733 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fora Trmmeraredt 3 welvem verm gaadfa wten & ameie fawm wrfwa (HEd.) & safeaa @
e fem e

Options:

o, i
913943104933, R

U AN, ¢HTE

9123345104534,

wa.H. g
913943104935,

A2, B
9123942104936, e

Question Number : 135 Question Id : 91394326734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Paunperization indicates
(i) A state of extreme poverty
(ii) A state of destitution
(iii) A state of prostitution
(iv) A state of indigence
Select the correct answer from the code given below :
Code :

Options:

Only (i), (ii) and (iii)
913942104327,



Only (ii), (iii) and (iv)

912943104935,

Only (i), (iii) and (iv)
915943104939,

Only (i), (ii) and (iv)
915942104940,

Question Number : 135 Question Id : 91394326734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
gt 1 a7 2
(i) ¥froor Tt <6 fearfa
(ii) Frofémar i feafa

(iii) FvEmaf 6 feufa
(iv) gfegen <t feufar

3 R e g A A @ I R 9P
+ :

Options:

Faa (1), (i) 3 (iii)
913943104937,

Shad (i), (iii) 3 (iv)
913943104938,

Fad (1), (i) 3 (iv)
913943104939,

Fad (1), (ii) 3 (iv)
913943104940,

Question Number : 136 Question Id : 91394326735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Wheo has initiated the ‘Mode of Production Debate’ with special reference to the Indian
subecontinent?

Options:

913943104941 e Patnaik

91394310494p Alice Thomner



913943104943, C-D- Adhikari

Rambkrishna Mukherjee
913845104544,

Question Number : 136 Question Id : 91394326735 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frefeafiga & & forem wrdte Iowerda = faim g 4 Seurga fa 6t wew’ i ywama & oft 7

Options:

9123345104541, s

ufer A

91334210434Z.

912345104543, @<

9133451045944,

Question Number : 137 Question Id : 91394326736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which were the most prevalent land tenure systems in India prior to Independence?

(i) Jamindari
(ii) Jotedari
(iii) Ryotwari
(iv) Mahalwari
Select the correct answer from the code given below :
Code :
Options:
Only (i), (ii) and (iii)
915942104545,
Only (ii), (iii) and (iv)
913943104346,
Only (i), (iii) and (iv)
9139431043947
Only (i), (ii) and (iv)
2129421043945,

Question Number : 137 Question Id : 91394326736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



a1 % Od Wi ° gaifies sferd g-gft sgazemd s-d of 7
(i) et

(ii) Sfragrt
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(iv) HEerar!
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Options:

Fad (1), (ii) 3 (iid)
913943104945

Shad (i), (iii) 3 (iv)
Q13942104946

Fad (1), (i) 3 (iv)
913943104947

a9 (1), (ii) 3 (iv)
913943104948

Question Number : 138 Question Id : 91394326737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

When means are appropriate to the ends, it is called
Options:
Logistics
913943104349

Rationality
912942104950,

Synchronization
912942104351,

Matching
913943104352

Question Number : 138 Question Id : 91394326737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
W4 GIeq % FIET guiud 9194 &, 91 T8 Feendl 8
Options:

913943104949, Al



2133942104350

qegepletd (HHTh
9133451043551, ( )

g

91334510455Z.

Question Number : 139 Question 1d : 91394326738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
According to whom, ‘Divizion of productive labour greatly increases the wealth creating
capacity of a society™?

Options:

913943104953, dam Smith

913943104954, arl Marx

913943104955, - Durkheim

913943104956, 1 'epen

Question Number : 139 Question Id : 91394326738 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

a5 Toraen ®ya B, ‘Seares gm-favrem & fordt wwmar fr awafyr Fafo swan 98 w9 8 =g wreft 777

Options:

farg
Q13943104952 R

913345104554, o

tguits

2913342104355

913345104356, a.

Question Number : 140 Question Id : 91394326739 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who subscribes to the view that alienation is a consequence of oppressive social structure?

Options:



913943104957, Max Weber

913943104955, art Marx

913943104959, i Merton

913943104960, - Durkheim

Question Number : 140 Question Id : 91394326739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Freafeafiaa 4 @ 27 foraew faem 2 6 sremma gt grnfers g 0 ufom 87

Options:

9133451043557, e A=

9138451043955, w

2913942104359 AR, 7

3. gt

913345104560

Question Number : 141 Question 1d : 91394326740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following is not involved in Weber's ideal type of bureaucracy?

Options:

913943104961, ' ruen rules

Recruitment based on qualification
9138451043962,

913943104963, | outical decisions

Offices are impersonal
2123942104964,

Question Number : 141 Question Id : 91394326740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

9133451043961,

9133451043962, * Tl

9138451043963,

Frfafe
913943104964, e &

Question Number : 142 Question Id : 91394326741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one is not a part of the World-System Theory?

Options:

913943104965, C"°T¢

World class city
913343104366,

Periphe
913942104967, phery

Semi-periphe:
912942104965, Perphery

Question Number : 142 Question Id : 91394326741 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafafiaa o & s fave sgaen & fagra =1 wm 38 27

Options:

F5-farg (#10)

913345104365

9123345104566, Aol 1 R

9133451045967,

913943104968, e

Question Number : 143 Question Id : 91394326742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Eradication of poverty in all its forms, including extreme poverty is the

greatest global challenge.
Reason (R): Eradication of poverty is an indispensable requirement for
sustainable development.
Code :
Options:
Both (A) and (R) are true and (R) is the correct explanation of (A).
9139431043969
Both (A) and (R) are true and (R) is not the correct explanation of (A).
913943104370
(A) is true, but (R) is false.
213942104971,
(A) is false, but (R) is true.
915943104572,

Question Number : 143 Question Id : 91394326742 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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H:
Options:

(A) 3 (R) YT (R), (A) 98t =araan & |
913943104969, T & v &

(A) 3R (R) SHT &&t &, g (R), (A) i G =amen 78 § |
913943104970,

(A) H&t B, Wg (R) Terd 7 |
913943104971

(A) TTed 2, Wig (R) 98t 2 |
912942104572,

Question Number : 144 Question 1d : 91394326743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who said that there is need of change from ‘mindless pursuit of wealth’, to ‘wide access to
entitlement, human capabilities and freedom™

Options:



Mahbub-ul-Haq
913943104973,

Am a Sen
913942104974, arty

913943104975 V.K.R.V. Rao

913943104976, | Qommen

Question Number : 144 Question Id : 91394326743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

7z foram #om 2 for ‘amafe it 9fgdm @i @ ‘aifin, e swan an wadaa it 3R TgeE i
HATaTIHAT 87

Options:

HEqH-3A-gh
913243104373,

913345104574, &

913845104975, A5 =

2913942104376, A,

Question Number : 145 Question Id : 91394326744 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
By which year Sustainable Development Goals are to be achieved?

Options:

-
913943104977, 2020

2123942104978, 2022

9123451045739, 2028

9133421043580 2030

Question Number : 145 Question 1d : 91394326744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



form = e amofta faera wem wrea fope o &7

Options:

.
913943104977, 2020

913342104375, 2022

9138451045749, 2028

9123451043580 2030

Question Number : 146 Question Id : 91394326745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Ratio of population aged 60 (sixty) years and above per 100 of population aged 0 - 14 years
is called
Options:

Young age dependen
913942104981, & a8 pe “~

Old age dependen
Q139432104982 & pe “

Index of Ageing
913942104383

Dependency Ratio
913942104954, pe “

Question Number : 146 Question 1d : 91394326745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

gfer 100 it F=aEa # 60 a9 3t Ia@ wAfies it 39 redt 997 0 - 14 9 6t IF oAt FTHESIT H
FUTE FEATal

Options:

ar 39 fasfean
913943104981

9133431043582, T

T HEH
913943104983

912345104554,



Question Number : 147 Question Id : 91394326746 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to 2011 Census, the five most populous States of India i.e. Uttar Pradesh,
Maharashtra, Bihar, West Bengal and Madhya Pradesh, account for

Options:

About 40% of India’s population
913942104955,

40 - 45% of India’s population
2123942104386,

45 - 50% of India’s population
9133942104387,

50 - 55% of India’s population
9139421049588,

Question Number : 147 Question 1d : 91394326746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ST 2011 % FIER, WA & qi gaifaes Swaean ot Usat syiq I wew, gans, faaw, fwm
ST 3 HERISE T W B
Options:

913345104955, i * 40%

913943104936, @ I SHE 1 40 - 45%

913943104987, @ ! SFHE i 45 - 50%

913943104988, (@ <l SFEE1 H 50 - 55%

Question Number : 148 Question Id : 91394326747 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following factors does not lead to the opening of Demographic window?
Options:
Immigration
2123942104389,

Constant decrease in fertility
9133942104330,



Entry of baby boomers into labour force
913943104331,

Lack of improvement in life expectancy at older ages
913943104992, P & g

Question Number : 148 Question 1d : 91394326747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Freafafiga # & ffm wn & wfomreasy saifesd fash 78 gadt 27
Options:

9133431043549

913342104330, q il

9123345104551, w1 e 3 =

S IW SFEET | St weATn # g w A9
913943104992,

Question Number : 149 Question Id : 91394326748 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who used the term ‘gender’ for the first time?

Options:

Ann Qakley
2123942104992,

913943104994 aria Mies

Meg Stacey
9133245104995,

913943104996, Karuna Chanana

Question Number : 149 Question 1d : 91394326748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Frefefaa & o fro veelt sr et weg 1 v foman o ?
Options:

ud Ao
913943104993



2913942104334 i

913345104335, n

2123942104336,

Question Number : 150 Question Id : 91394326749 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following is nof a Radical Feminist?

Options:

913943104997 °udith Butler

91394310490g, ate Millett

913943104999, —nulamith Firestone

Sylvia Walby
9133243105000,

Question Number : 150 Question Id : 91394326749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
frefafiga & & 9@ 3 T T8 27

Options:

Hfey ween

913345104557

913345104555, ¥

ATy ST

2153942104999

2133942105000,



